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Equations of Lines
Standard form: A X+ B\/ =

General form: /4)( + Bk{ +C =0
Slope Intercept form: y: mx+b

Point Slope form: \/ y, m (X-% D

Intercept form: é b - l ﬁ:;—:\r?ltrr::gt
Vertical Line: ¥ = O\
Horizontal Line: \, < IO
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3. points: (-2,-5)and (-1,-2)
e
m=Y2=1t A
Xz X1
m= 52
2+
m= =2 -
=1
- k_s\o
Y-y, =mO-x,) ?"“& sp
y=5= 3(x-2)
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1.2 Linear Models and R f Chan

Slope - of a the nonvertical line passing through
(x;,yp and (x,, y,) is:

AY _rise _ Y, Y=Y,
m :_i_——. — /2 — 1 2.
A i

X| '# X'Z.
verfical Line > s\o?c is undefned

_Pos'nﬁvf ng«rhw Zero undefined

/\*—’1
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Ex: Write an equation in general form for each of the
following sets of given information.
I point ( -2,4)and m = -i
=m(x-x,
5[)/ H =3 (x+2)]5
5y—20 =-3 (X+23
=20=" o

point=slope

2. x-mtercept 5 and y-intercept = -3 |n‘\'crt¢P+ Form
_ + % \
+¥=I)s

3x~5\ =15
‘3&‘5945:0&
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The slope of a line can be interpreted as a ratio or rate.

Ratio - lf)ﬂ,’y axis havetHne same units
of measwe, the slope has no unibs

ard is 2 RATO.
Rate- | x 3y axis have different units

of measure, the Slope has unite
(of the form: per )
and is o RATE .
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*See pg 1%
Parallel lﬁlgles - i€ ondanly if

parallel lines «— eqpal slopes
Perpendicular lines -

perpendicilar fines <> negodive recipracal

Slopes

Ex: 4. Write the equation in general form of the line through

the point (-2, 1) and parallel to 2y - 6x =9

)"‘/l bt "‘(X")‘n) Z:I/-:-"S);:'j %
V1= 3002)
V-1=3%rl

O=3x-yt7]
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HOMEWORK

pgl6-17;9, 11, 13, 23, 25, 26, 27,
31,35, 45,55,59

#+% Do not sketch the graph for 27, 31, 35
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5. Write an equation in general form of the line through the point
(-2, 1) and perpendicular to the line 2y - 6x =9

m=

L
.Lm =3

Y-y: =m0 x,)
y-1=3(x+2)
3y-3= -(x+2)
3y-3="X"2

lx+39-l=08
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